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BACKGROUND: Solving Linear Equations containing Fractions

Key concept: Clearing Fractions.
When there are fractions in an equation, we can choose to work with the fractions (difficult) or we can
multiply both sides of the = sign by a useful number which makes the fractions reduce to denominators of 1,
to “clear” or “cancel” the fractions.
The most efficient useful number is the LCD (Lowest Common Denominator) for all the fractions in the
equation, but this is not the only valid method.

1) Identify all the denominators, then find the LCD for all the denominators.

2) ldentify the terms (separated by add or subtract, do not include + or - signs inside parentheses) and

multiply each term by the LCD.

3) Reduce the fractions formed by the LCD and the original denominator.
4) If there are any parentheses, simplify by distributing.
5) Combine any like terms on the LHS of the = sign, and combine any like terms on the RHS.
6) Collect all the variable terms on one side of the = sign.
7) Collect all the constant terms on the other side of the = sign.
8) Isolate the variable.
9) Reduce any fraction final answers.
Solve
4) XTH =-+x
2) "T” +2=5
5) D = 5(x+ 1)+
2(x+7) _

3) 5

3
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BACKGROUND: Classifying Linear Equations as Identities or Contradictions

Key concept: Variables add to zero and disappear.
When solving any equation, sometimes the variables disappear.

This is correct work!
1) If the resulting statement is TRUE (like 0=0 or 7=7) then any real number will make the equation true.

We classify the equation as IDENTITY, and if solving, we say ALL REAL NUMBERS, or {x|x € R}.
2) Ifthe resulting statement is FALSE (like 0=1 or 7=3) then no real number will make the equation true.
We classify the equation as CONTRADICTION, and if solving, we say NO SOLUTION, or @.

Solve and classify.
1) 21(b—1)+3=3(7b—6)

4) 3x+14 —x—2+ xX+18
2 2
2) 2(s+2)=2(s+1)+3
5) 5(x+3) = 2(x+8)

3 3

2x+6 + 4

3) x+7=
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Math 70 4.5 Approximating the Solution(s) to an Equation Using the Graphing Calculator

~Intersection of Graphs Method:

1) Solve 2mx—5.6 = 7(x — ) graphically using your graphing calculator.
(a) For this equation, what function(s) do you graph in your calculator?

(b) For the method you chose, where/how do you find the solution(s)?

(c) Round the solution to four decimal places.

Xx-intercepts Method:

2) Solve 2mx ~5.6 = 7(x — x) graphically using your graphing calculator.
(a) For this equation, what function(s) do you graph in your calculator?

(b) For the method you chose, where/how do you find the solution(s)?

(c) Round the solution to four decimal places.
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Math 70 Approximating the Solution(s) to an Equation Using the Graphing Calculator

_—Intersection of Graphs Method:

1) Solve 2mx+5.6 = 7(x — n) graphically using your graphing calculator.
(a) For this equation, what function(s) do you graph in your calculator?
Yi= A +5.6
Va=FX-T)
(b) For the method you chose, where/how do you find the solution(s)?

e x—coovdvate of ~fue o vk of \V\"rcfrsed—\o\/\
oy po n wihece %rmphs wntersedt,

« Br Vice- Ve rsaq

(c) Round the solution to four decimal places.

X2~ 272.86664

Y . 36601
| -Boc l

QVHJL& a_‘,v

VP2 pYny
SYFpUSNOv L
g\;),;—?\nosw oS-~ ut

N

x-intercepts Method:

2) Solve 2mx+5.6 = 7(x — x) graphically using your graphing calculator.
(a) For this equation, what function(s) do you graph in your calculator?
Yy= ATWx+ 5.6 —~T7(x-T)  or Subbrack LHS from RHS

(b) For the method you chose, where/how do you find the solution(s)?
“Twhwe X-coovdinare of Yhe X-intevce +
o poivet wiere graph wﬁexsecfs +he X-axis.

(c) Round the solution to four decimal places.

X x A, 860664

Y X~ 23, 9666 |
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